dB-killer n.32B

Cod.307762801

Plain washer
8X24
Cod.200321

Aluminium spacer
-for allen screw M8-
Cod.204321

Aluminium spacer
Purch.Cod.206329
Prod.Cod.0814035001

ERO
Big Silencer
Cod.3014000471

Allen screw M8X80
T.C.Z.B.
Cod.203328

Short helical spring
tensile
Cod.204387

Short tube in
silicon rubber
Cod.204412

O COVER HOLE
IN ORIGINAL FRAME

4 Gasket 14x4.9x1.5

Carbon Cover
C0d.200371 C0d.083876001
2 Allen screw
M5X12 T.B.E.I
Co0d.201031
ART. 14035 2 Plain washer
5x15 Inox
Co0d.406580

HONDA SH 300i ABS

SLIP-ON - NERO - STAINLESS STEEL

Knurled collar
nut M8
Cod.200298

Stainless steel
silencer bracket
Purch. Cod. 206328

Prod. Cod.3014035502

3 Aluminium spacer
-for allen screw M10-
Co0d.206272

3 Allen screw
M10X1.25X30

.C.Z.B. Cod.406393

Pipe N°1098
C0d.3014035201

2 Mounting
plate M5
Co0d.204555

Original graphite bushing

Stainless steel
strap-in @38
Cod.30003853




	Foglio1
	Vista del disegno23
	Vista del disegno24


